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A 32.3886
B 3.30498

c - 1567.09

*

Iteration 80

uSSR : 8.55929e+006 delta(UsSR) /USSR : -9.8086e-006
delta(ussR) : -83.9547 linit for stopping : 1e-005
lambda  : 4156.1

resultant parameter values

-32.3886
3.39479
= 1567.09

A
B
c
After 80 iterations the fit converged.

Final sun of squares of residuals : 8.55929+006
rel. change during last iteration : -9.8086e-006

degrees of freedon (ndf) : 997
ns of residuals (5tdfit) = sqrt(USSR/ndf) 92.6555
variance of residuals (reduced chisquare) - USSR/ndf : 8585.05

Final set of parameters Asymptotic Standard Error

A -32.3886 +/- nA73 (12.88%)
B 3.39479 +/- 0.02177 (8.6414%)
c = 1567.09 +/- 2.936 (8.18714%)

correlation matrix of the Fit parameters:

] B ¢
A 1.000

B 6.000 1.000

c -0.025 -0.059 1.000
gnuplot> F(x)=Axcos(Bxx)+C
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gnuplot> fit F(x) “inga_81.dat" via A,B,C





